Multiples - Answers

Key Stage 2: 2003 Paper A
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Key Stage 2: 2004 Paper B
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Key Stage 2: 2005 Paper A
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Key Stage 2: 2006 Paper B




Key Stage 2: 2007 Paper A
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Key Stage 2: 2008 Paper B
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Key Stage 2: 2008 Paper B
2.

Key Stage 2: 2009 Paper A
1.
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Key Stage 2: 2010 Paper B
1.

8 Three multiples of 3, eq: 1m Multiples may be given in any order.

Digits may be in either order, eq 24 OR 42
3|s 2|4 5|7

De not accept digits used more than once.

OR De not accept digits other than those shown.

63 7]2 5|4

Key Stage 2: 2012 Paper A

1.
16 Award TWO marks for all four nurnbers correctly Upto 2m  Accept alternative unambiguous indications, eg
placed as shown: lines drawn from the numbers to the appropriate
regions of the diagram.
Do net accept numbers written in maore than one
region.
10
11 13
If the answer iz incomect, award ONE mark for
three numbers correctly placed.
Key Stage 2: 2013 Paper B
1.
24 Award TWO marks for the correct answer of 378 Up to 2m
If the answer is incorrect, award ONE mark for @ Answer need not be obtained for the award of
evidence of an appropriate method, eg: OME mark.

m 366 369 372 375 378 381
364 371 378 385

OR

m Factorisation/calculator method, eg
Tud=2
21 %18



Key Stage 2: 2015 Paper B

1.

13 Award TWO marks for the corect answer as
shown:
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If the answer is incorrect, award ONE mark for

4 true statements with no number repeated
(within those 4), eqg:

l

OR (blank)
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Key Stage 2: 2016 Paper 2 Reasoning - Sample

1.

Up to 2m

Do not accept numbers other than those given.

{Muitiple of 3 can be 48 OR 51}

(Multiple of 4 can be 48 OR 52)

7 | Award TWO marks for three rows completed
correctly as shown:

50

OH 140 OR 160 OR 180
DH 240 OR 270
DFI 360

If the answer is incorrect, award ONE mark
for two rows correct.

Up to




Key Stage 2: 2016 Paper 3 Reasoning - Sample

1.
1 | Award TWO marks for three boxes Up to | Accept more than one correct multiple in
completed correctly, e.g. 2m any box.
Do not accept any box containing a
multiple of 5 ot a correct multiple and an incorrect number.
multiple of 5
multiple 3.6, 9 etc
of 3
not a
multiple 5, 10, 20 etc 1,2, 4,7 etc
of 3
If the answer is incorrect, award ONE mark
for at least two boxes completed correctly.
Key Stage 2: 2016 Paper 2 Reasoning
1.
14 | 24 AND 48 only 1m Mumbers may be given in either order.

Key Stage 2: 2017 Paper 3 Reasoning

1.

95 x60R96 = 5

1m




